Id 1

Question |go13y ¥ it IT A AT F Tl g3 famor &7
A el

B ST

C TH%

P el

Answer |D

Id 2

Question erar iy effe & ereel & fraret og & 2
A 2

B 3

C 4

D 5

Answer |B

Id 3

Question | fFFafaf@d & ¥ @R &7 gATar eeg 78T § ?
A SICED

B e

C QT

D IGERO!

Answer |A




Id 4
Question | fTrsfaf@d # 3REY g § ?
A et
B 31dhd
YN
C 3mefaie
D J57
Answer |D
Id 5
Question |geger fhdet JhR & ?
A 2
B 3
C 4
D 5
Answer |B
Id 6
Question |'q37 379sf &AW H AP @' Hied-AT AT ¢ ?
A gToTaras aIFd
B geegdlas arey
C Afaraes aeg
D SN O IS T80
Answer |A




Id 7

Question | Fyer spi-ar folor & 2
A gfelar

B EAferaT

C G|

D STH | Hlg TGl
Answer |B

Id 8

Question 'g37 37 @ &' & HiaT-A1 F1el § 2
A GREICCa]

B $TTel

C GICAUEN ]

P ST § IS oAl
Answer |A

Id 9

Question | g3 wiley-aT 2reg § 2
A gerst

B LN

C dcHA

D ST § Hlg TG
Answer |A




Id 10

Question '3y apler-ar TEATH & 7

A fregaaras
B sfreTTaras
C IBEEIEED
D SIH U HIS Agl
Answer |A
ID 11 & 12
Question Type Comprehension
Main Text In each of the following questions find out the alternative which
will replace the questions mark
A CT I g AF WA A & IoA ¥ 7 § | A uge
aH & Qe Y&l # Ueh FFeey &A1 a1am § aur gE IaA
&I Uh g ofcd & |6d 13 Tasvedl & @ ag asved giad
ST g IIH & g § HAW FFaed TG & |
Question Ocean: Water : : Glacier : ?
qHqg L gTel: : TR : 2
A Mountain
qad
B Cave
dTPT
P}
C Refrigerator
D Ice
%

Answer




Question Fruit : Mango : : Mammal : ?
ol 3TH : : TIAIIT : ?
A Snake
|arg
B Sparrow
I
C Fish
HSoll
D Cow
g
Answer D
Id 13
Question | A man pointing to a photograph says, “The lady in the photograph 1s my
nephew’s maternal grandmother.” How is he lady in the photograph related
to the man’s sister who has no other sister?
T AfFd Teh BleT o 3 FART I 3T FBAT §T Hgal ¢ b "q
HIer # St AT ¢ |7 a8 R Alel o AT & |39 Afgelr &1 39
cgfad foh saalldl 98 & T eaed g 2
A Cousin
hiotel
B Sister
g8
C Mother
HTAT
D Mother-in-Law
ard
Answer |C




Id

14

Question

Find the odd word from the following:

frifof@d # @ favs o @

A May
B July
P} :
C August
3ITEA
D September
G
Answer |D




Id

15

Question

Pointing towards a photograph, a lady tills Pramod, ‘I am the only daughter
of this lady and her son is your maternal uncle.” How is the lady related to
Pramod’s father?

Teh HIer HT 3T FART A §U Teh Afgell TAG & Fgal & 6 &
58 AR T gehollcl T § AT 381 IF JFERT AAT &7 30

Afgelr &1 gAIG & Udr @ 1 FFaee g2
A Sister-in-Law
ey
B Wife
Jeail
C Anut
BB
D Mother
HIAT
Answer |B




ID 16-17

Question Type Comprehension

Main Text In each of the following questions, four words have been given out
of which three are alike in same manner, while the fourth one is
different. Choose out the different one.

AT I MV IRAF Id A IR U T M & oad @
d Afead s @ GdA= & Safe ater d-r @ @ g
et e AT RIS

Question Choose the different word from the following.
e & @ e ersg g |

A 37

B 28

C 42
56

Answer A

Question Choose the different word from the following.
e & @ e ersg g |

A 767

B 535

C 484

D 397

Answer D




ID 18-19

Question Type Comprehension

Main Text In each of the following questions a number series is given with
one tern missing. Choose the correct alternative that will continue
the same pattern and fill in the blank spaces.
A G 1 gdF U H Tk Ao & = § A
ug dod ¢ | e faeedl & & 38 €& [ehew &1 gl S
& arfY Aoft FT IHTEOT FIAT &Y |

Question 12,24,48,96,192, ......7 .......

A 392

B 198

C 384

D 258

Answer C

Question 567,189,63,21,......7 ........

A 12

B 18

C

D

Answer




ID

20-21

Question Type

Comprehension

Main Text

Read the following information carefully and answer the question
given below. Six People C, D, E, F, G, and H are standing in a
straight line facing north not necessarily in the same order. D is
second to the right of F. C is standing fourth to the left of H and H
1s not standing on the extreme end of the line. E is standing second
right of D.

s & IR0 SRR @l eAeas qfed qur 6d I weat
& 3R &Sy | o8 =afFd C,D,EF,G dur H3aX feam & 3k
He aleh Ush el Y@r & @ § (SR Al fob 33 A A |
D,F& g g § |C,H& q0 At T R @7 § | a2
HY@T & e o B 9 o€ @sT ¢ |E, D& e gl
TAH I TeT ¢ |

Question

Three of following four are alike in a certain way based on their
positions in the above arrangement and so form a group. Which of
the following does not belong to the group?

S G I R faeedt # & 1, 39X & =Y cgaear #H
39 do & TUT & TR U fAfRad alie & qae=T 8
AT Ueh HAE Felid & | oot @ sl @1 38 Hog H 70
37T 872

CG

GE

GH

o QO w >

DE

Answer

B

Question

In all the people are asked to stand in an alphabetical order from
left to right, the positions of how many will remain unchanged?

gfe gy afeaat & 97 ¥ =& 9T AT & FH B
3TAR doRIT S ar fhdst Safdaal @1 T 3aRafad
T8am?




A One
B Two
C Three
D Four
Answer A

Id 22

Question | Arrange the words given below in a meaningful sequence.
1. Doctor 2. Patient 3. Diagnosis 4. Bill 5. Treatment

T fod I esel @ T arde H cgaiyd W |
l.3lFX 2. 709 3. anfAeT 4.9 5. SolToT

A 2, 1, 3, 5, 4.

B 1, 2, 3, 4, 5.

C 3,2, 1, 5, 4.

D 4,1,3,2,5

Answer A

Id 23

Question | Arrange the words given below in a meaningful sequence.
1. Deca 2. Kilo 3. Centi 4. Deci 5. Hecto

S & I ereel ol ek ArdE A areud Y |
1. 3T 2. foper 3.9¢r 4.3 5. gaFer
A 5 4,1, 3, 2.
B 3,4, 1,5, 2.
C 2,3, 1, 5, 4.
D 3,2, 1,5, 4

b

Answer |B




Id

24

Question

On which date was the first Monday in July 2007?
SIS 2007 H Ygel AR foha fafd & a1 2

A

1 July

Answer

Id

25

Question

In a row of students, Mohan is 10th from right. Sohan is 25th from left.
When they change their position then Mohan becomes 22 from right. What is
the new position of Sohan from left?

faeafdat $r v dfda A, Alged &1 T gAY 3R | 10dT g, Higel
T TATT IR 30 F 2597 &, 519 § 39T LA deoid &, ar AlgeT
I TATT AT 3R F 22dT 8 ST g, df digeT &l ardy 3R & 41
AT FATT 2

35

36

37

O Q| w >

38

Answer

C




Id

26

Question

An Oscar and Grammy-winning lyricist, Norman Gimbel, has passed away
recently. He was from which country?

3R 3T AT faar NaeR, A8 Sied &1 g & & e &
7| 98 g S ¥ A2

A US
ARG
B Russia
&
C Kenya
CoE
D Iran
ol
Answer |A
Id 27
Question |India will provide Bhutan a transitional trade support facility of Rs
over a period of five years to strengthen bilateral trade and
economic linkages.
AR feguala samar 3R nfde d@ael a1 Ao = & fou
§eTel &1 UTd ATl T 3 A Y N Th CIfAereTol
YR WEIAT AT YeTel |
A 300 Crore
300 IS
B 200 Crore
200 HUZ
C 400 Crore
400 HZ
D 500 Crore
500 S
Answer |C




Id

28

Question

Centre reconstituted a tribunal to adjudicate matters related to extension of
ban imposed on eight insurgent groups in Manipur. Who will head this
tribunal?

$g o AR H S 4S8 FHEI W o@mU v giafdy & fOedr 4

ot HATHCAT & AT el & [T Teh SR T JeAeioe
fhaT| 39 ~IIITRIeIuT & 37EgeT Hid ghl?
A Kalpesh Satyendra Jhaveri
Fedel g ST
B G. S. Sistani
ST wh. faEard
C Ramesh Ranganathan
A WATIA
D Lingappa Narayana Swamy
feleTear sRTIoT FarAr
Answer |B




Id

29

Question

Sultan Abdullah Sultan Ahmad Shah has been elected as the new King of
Malaysia. What is currency of Malaysia?

Fodld 3sgeel Fodled IgHS MG I HARIIT & oAV Tl & T H
el IAT 81 HATRIGT T Fer 4T 82

A Nakfa
oATFhI
B Cedi
asy
C Ringgit
Rfara
D Manat
HAdd
Answer |C
Id 30
Question | Table Tennis Federation of India (TTFT) revoked suspension of former
national champion Soumyajit Ghosh. He is from which state?
¢del A BT 3T 33AT (EETHINS ) A g Ty ATge
AlFgslid 9y & ol & Eg X Ganag Fra vsg a4 ¢ 2
A Assam
IaH
B Andhra Pradesh
3TEr Seer
C Madhya Pradesh
TqET Yeor
D West Bengal
qiRgH SIel
Answer |D




Id

31

Question

Who has launched Ujjwala Sanitary Napkins initiative in Bhubaneswar?

fhaa aaivay # Iooldell ey Aufched Tgel Y& &l § 2

A Dharmendra Pradhan
oo T
B Narendra Modi
g A
C M Venkaiah Naidu
TH dendl A3
D Ram Nath Kovind
TH 1Y Hidg
Answer |A
Id 32
Question | Who has laid the foundation stone of a 50-MW LNG-based power project at
Hope Town, South Andaman?
fraer 81T @34, SfayuT 373HT & 50-RANale &l TAUaAa 3TeTRa
fosrelr aArster & 3murferer @ 82
A Sushma Swaraj
AT Tt
B M Venkaiah Naidu
TH dhdT A5
C Ram Nath Kovind
TH 1Y Hidg
D Narendra Modi
g HIGr
Answer |D




Id 33
Question |Jair Bolsonaro was sworn in as President.
S SIedlART o & Sgafd & & H A9Y ol
A Germany
STHAT
B Brazil
SToiTel
C France
i
D Canada
hellsT
Answer |B
Id 34
Question |Competition Commission of India (CCI) appointed as its secretary.
HRAT gfaeae e (FHHBmS) o P 39T IRIG
g 1ol
A Hemant Bhargava
gHd AT
B Pramod Kumar Singh
yHe $AR e
C T B Radhakrishnan
& & TRt
D Chagari Praveen Kumar
SIIRT JdIoT HAR
Answer |B




Id

35

Question

Who took charge as the acting Chief Justice of the Andhra Pradesh High
Court?

fordeT 3TMer 9Gor 3T2 Ao & Hrddigeh HET AN & &9 &
FAAR  THTCT & 2

A Hemant Bhargava
ST e
B Pramod Kumar Singh
gHlg $AR g
C T B Radhakrishnan
T oY TSI
D Chagari Praveen Kumar
IR JAoT FAR
Answer |A
Id 36
Question | A 12-year-old Indian-origin student from Singapore has bagged
two gold medals at the World Memory Championships held in Hong Kong.
oy & ¢ adfiy 9RAT 7 & B o gleTehiar H
AT des AART IVIARAT A F FaoT g Sid ¢ |
A Rohit Kumar
e AR
B Vijay Sharma
[EERIE
C Rakesh Kumar
THA FAR
D Dhruv Manoj
g Helrsl
Answer |D




Id

37

Question

Which organization has launched "Samwad with Students" Programme?

fore TeuT & 'Ol & WY Hale " HdhA Y fhar g 2

A DRDO
SI3TSI3N

B NITI AAYOG
T 3T

C Finance Ministry
IEEIGEICE]

D ISRO
a0

Answer |D

Id 38

Question | Who has been appointed as the Chhattisgarh Chief Secretary?
fernerenl olIeeTe & AET AT & ®9 A &geFa fhar amam § 2

A Subhash Chandra Garg
gAY =g I

B Ajay Narayan Jha
ST [ARTI0T ST

C Rajiv Mehrishi
ot AR

D Sunil Kujur
eltel Fofy

Answer |D




Id

39

Question

Which Indian-American has been sworn in as the Fort Bend County Judge?

fore 9RAT el & ARG A BIC §5 FEE & ~ARTENT & & A
AIY ol 2

A K P George
CIlic )

B Vinod Kumar
fasile $AR

C Rakesh Singh
e g

D Anshul Kumar
IR FAX

Answer |A

Id 40

Question |Justice Asif Saeed Khosa has been appointed New Chief Justice of :
SIftcT 3A®w @5 QT &l ol AT W SIEeH gerd
fepar aram & |

A Bhutan
I

B Bangladesh
CIEC )

C Pakistan
qTfehEcTsl

D Afghanistan
HPATAEAT

Answer |C




Id 41
Question |Former International player Prakash Rele has passed away
recently.
qd AR &Sy wenrer Yot & gTel & H e g
T E |
A Basketball
arEhedlel
B Volleyball
£ oo
C Rugby
el
D Carrom
IH
Answer |D
Id 42
Questio | On which State Government, National Green Tribunal has imposed a fine of
n 100 crore rupees for its failure to curb illegal coal mining in the state?
FT ToT TR W e gRAT 30T o Tog & 31dY9 S
Gelol &l Uehel H 3oTh! TAHelr & AT 100 HAS TG AT SFATAT
ST 82
A Mizoram
[GEIRE
B Maharashtra
HeRIS
C Meghalaya
HaTel g
D Manipur
AR
Answer C




Id

43

Question

Who has been elected as Speaker of the House of Representatives for the
second time?

ferden! qElT 9 g139 3% qYeiefed &1 reme gom amm § 2

A Nancy Pelosi
sty UelrEr

B Komal Mangtani
HIHT HIATAT

C Neha Narkhede
el ARES

D Padmasree Warrior
TEHAT aTiRAT

Answer (A

Id 44

Question | Which Country hosted 17th edition of the AFC Asian Cup?
frar Sor & TURAT TR 9 & 17 d GERIOT T ASTalll &l § 2

A Bangladesh
EIECICH]

B India
AT

C Thailand
Aol

D UAE
I3

Answer |D




Id

45

Question

Centre has amalgamated three Regional Rural Banks (RRB) into a single
RRB with effect from January 1. Which of the following is not in that list?

&g o did 8T AT dHi (IRBRET ) & fFeT & v JdAa &
gl fhar @ | fef@a A @ sl ar 3@ g A &1 ¢ 2

A Punjab Gramin Bank
9SIe ITHIT Sh
B Malwa Gramin Bank
HToldT ATHIT S
C Sutlej Gramin Bank
Helelol ITHIOT Seh
D Utkal Grameen Bank
3chel ATHIT deh
Answer D
Id 46
Question | Which Country will host the 2019 Africa Cup of Nations?
SleTaT G2T 2019 3THIHT HY AT AAA HI AT HLIM 2
A Togo
cran
B Senegal
QeaTet
C Gabon
Aaret
D Egypt
s
Answer |D




Id 47

Question | According to World Bank, India's Gross Domestic Product Growth Rate is
expected to in the Financial Year 2018-19.
faeq d & AR, facT a¥ 2018-19 & HRA H Fohel o]
3care HT gftg X T & 3TA ¢ |

A 7.1%

B 7.3%

C 7.0%

D 7.2%

Answer |B

Id 48

Question |On 08 Jan 2019, a Memorandum of Understanding (MOU) was signed
between the Indian Army and  on the Defence Salary Package.
08 STofadl 2019 @I, T&T ddel Yehol HRCAT FaTl 3R &
a9 Teh FHSIAT A9 (VAN ) W gEaer f&w a7 |

A UCO Bank
T &

B Dena Bank
el deh

C ICICI Bank
ITSHISHIIG dh

D PNB
qrosTer

Answer |D




Id

49

Question

Ministry of Women and Child Development, Government of India, has
launched an online campaign, ‘#www : Web- WonderWomen’. In which
year, Ministry of Women and Child Development came into existence as a
separate Ministry?

Afger 3R a1 AP JI9T F TS JfHAF Hwww : Web-
WonderWomen’ &g fhar g [fper a¥ & Afger 3R srer s
HATAT Teh 3ol HAST & 9 H Fedca H 7AW

A 2006
B 1985
C 2004
D 2003
Answer |A
Id 50
Question | In which city, 25th edition of Partnership Summit was held?
forer erex # AICARAT  WIAT HT 25 F1 FEROT AT g3
A Pune
™
B Dehradun
cEree
C Kolkata
hTelehldl
D Mumbai
TS
Answer D




Id

51

Question

Taiwan President Tsai Ing-wen has appointed Su Tseng-chang as Prime
Minister. What is the Currency of Taiwan?

drsdrel & Tseafd CHIS o1- AT o YUTAHAT & & H g cHiar-aieT
T fAgea forar 8 | drgareT i Fqar F1 8 2

Yen
AT

Yuan
g3TeT
o

Dollar
STelT

Manat
Held

Answer

C

Id

52

Question

Tata Consultancy Services has appointed Daniel Hughes Callahan as the
additional and independent director for a period of five years. In which year
TCS was founded?

el ShfecH! AiadsT o ST EgIH shelgel 1 UTd ATl HT AT
% fow 3ifaRed 3N FadT Wews & &0 # &g fhar § |5
a¥ & S T g5 oY 2

1955

1966

1967

Sla m »

1968

Answer

D




Id

53

Question

Alex De Minaur has won the men's singles title of Sydney International. He
is from which country?

ToleH 3 AR o sl SeTaieeTe & oW Uehol 1 WS Siicl & |
Jge fradu ag?

A Australia
Jreeforar
B Austria
3iTRegan
C Russia
&
D Turkey
T
Answer |A
Id 54
Question | Which State Government has decided to felicitate individuals and institutions
that adopt stray cows from cow shelters?
fra T TR & IMT HAHAT § HGRT AT &l 3G oled dlel
TiFaal 3N GEUEET Y GFEATAT et 1 o o @
A Telangana
JdeTaTeT
B Uttar Pradesh
ESRECAl)
C Madhya Pradesh
HET Uer
D Rajasthan
TSTETTT
Answer |D




Id

55

Questio |IDFC Bank has been re-named as the IDFC First Bank. Where is the
n Headquarters of IDFC First Bank?
ISSITHET deh T IMSSITHHT HEC e & & H ol ATAS foham
AT 8 | IMSSITHET BES deh I FLATIT gl © ?
A Mumbai
IS
B New Delhi
7S el
C Kolkata
ehTeTehTcll
D Chennai
BEaE]
Answer |A
Id 56
Question |In the following sentences a word or phrase is written in bold .Choose the
word nearest in meaning to bold part.
Mohinder Amarnath had penchant for hook shots
A Art
B Inclination
C Strength
D Desire
Answer |B




Id 57

Question |Select the word that is most similar in meaning.
Celerity

A Quickness

B Bachelorhood

C Lineage

D Backwardness

Answer |A

Id 58

Question |Choose the correct alternative out of the four
The Chairman is ill and we'll have to ----- the meeting for a few days.

A Put on

B Put of

C Put away

D Put off

Answer |D

Id 59

Question |In questions choose the word opposite in meaning to the given word
Demolish

A Shift

B Build

C Repeat

D Hide

Answer |B




Id 60

Question |In the following questions, some parts have been jumbled up. You are
required to rearrange these parts, which are labeled P,Q,R and S to produce
the correct sentence
In life , some rules are / (P), as business / (Q), they seem almost instinctive /
(R), learnt so early that / (S)

A RSPQ

B QPSR

C RPSQ

D QSPR

Answer |B

Id 61

Question | Pick out the most effective word from the given words to fill in the blanks to
make the sentence meaningfully completed
It was ------- hot that day and the cable suffered the brunt of the heat.

A Treacherously

B Acceptably

C Unfailingly

D Unbelievably

Answer |D

Id 62

Question |Select the option which contains the correct sentence among four

A She insisted on me to stay there

B She insisted on me staying there

C She insisted on my staying there

D She insisted in my staying there

Answer

C




Id 63

Question |In each of the following questions, choose the correctly spelt word

A Commettee

B Committe

C Comittee

D Committee

Answer |D

Id 64

Question | Any system is likely to ---- for ---------- of support from the public

A Survive , lack

B Succeed, reason

C Fail , want

D Finish , failure

Answer |C

Id 65

Question |In these questions, a sentence has been given in Active/Passive Voice. Out of
the four suggested alternatives, select the one which best expresses the same
sentence Passive/Active Voice.
They will demolish the entire block.

A The entire block is being demolished

B The block may be demolished entirely.

C The entire block will have to be demolished by the

D The entire block will be demolished.

Answer

D




Id 66

Question |Balls of marbles of diameter 1.4 cm are dropped into a cylindrical beaker
containing some water and fully submerged. The diameter of the beaker is 7 cm.
Find how many marbles have been dropped in it if the water rises by 5.6 cm?
1.4 QA T & died Hl Teh SoleldR sl & Ry fear smar & Sad
S Uil BT 8 3R g0 @ & 9 ST &1 N 1 G 73 &1 I
gl 5.6 9 §¢ ST g, df 38 fohdel geek e ot 87

A 50

B 150

C 250

D 350

Answer |B

Id 67

Question |The base of a triangle is 15 cm and height is 12 cm. The height of another
triangle of double the area having the base 20 cm is
fonely To7aT 1 MR 15 Q. U1 FAS 128 §1 T 37 Pegst
39T A 0 T &A%l 30 39T & &ahel & I & 3R
3R 20 9. 2

A 9 cm

B 18 cm

C 8 cm

D 12.5 cm

Answer |B




Id 68

Question |one fourth of a tank holds 135 litres of water. What part of the tank is full if it
contains 180 litres of water ?

Teh Coh ol Teh TIUTS HET 135 @ilex Uleil YROT Xar ¢l afg & & 180
ofex orelr g1 ar &k T fehciar o197 T B3 § 2

A 2/5
B 2/3
C 1/3
D 1/6

Answer |C




Id 69
Question | The following pie-chart shows the study-time of different subject of a student in a

day. Study the pie chart and answer the following questions.If the student studies

10 hours in a day, then he/she studies mathematic for

aff@a aB-ard v T 7 v o & [Affed vy & 3regaa-gq@a

P S2TdT &1 IS I T 37T A 3R Feafaf@a ueat &1 331 &

Iie O Th T H 10 G 3eTIA FIAT &, dl dg 0T Sl JaTs hldr

gl

159%
Mathematics
30%
Physics
20%
eography
thets 10%
D] Dtp;_h Hiﬁ.t{}r‘y
15%

A 3 hour

3 el
B 10/3 hour

10/3 @er
C 1/3 hour

1/3 el
D 3/10 hour

3/10 a1
Answer A




Id 70

Question | (7921 = 178) — 5.5 = /?
Simplification the following equations shown below

A 1512

B 1521

C 1251

D 1531

Answer |B

Id 71

Question | A boat running upstream takes 8 hours 48 minutes to cover a certain distance,
while it takes 4 hours to cover the same distance running downstream. What is the
ratio between the speed of the boat and speed of the water current respectively?
T Ad URT & Yfdhd $& gl a0F #al # 8 € 3R 48 fAse &1 g7y
A & S o 98 a8 FAE gl URT & 3fefhel dF HA H 4 6 T
THY AT & o Aa A Arer 3R EUX STl A URT Y AT T 3HTATT
FIT BIEM?

A 7:4

B 11:4

C 4:7

D 8:3

Answer |D




Id 72

Question |Simran started a software business by investing Rs. 50,000. After six months,
Nanda joined her with a capital of Rs. 80,000. After 3 years, they earned a profit of
Rs. 24,500. What was Simran's share in the profit ?
f@#ReT @ 50,000 A FT AL FR Tk WHCAW HT FI@T Y& |
6 HES d1G el ¥ 80,000 ¥4 Hr Yol @M HISER & adT| Il 3
il 91 3eaiel 24,500 T &7 ITH FART df {FET 1 oy & f{ear
T grem?

A 12,421

B 9,423

C 11,600

D 10,500

Answer D




Id 73
Question | The following pie-chart shows the study-time of different subject of a student in a

day. Study the pie chart and answer the following questions.The time spent to

study history and chemistry is 4 hours 30 minutes, Then the student studies Physics

for

fFrafofaa us-art s fta & e o7 & (e Ry & 3rcaa-gay

HI STAT &1 IS AIE T 37T FY 3R Fefai@d gt & 39X &

sfagg 3R W [ F7 37ETTT i & v a7 4 8¢ 30 Bee

g, da o Aifadr & v fFde a7 3regae aXar 872

mtry
15%
Mathematics
30%
Physics
20%
ecography
10246
Others )
10% History
15%

A 1 hour
B 2.9 hour
C 2 hour
D 3 hours
Answer D




Id 74

Question |28% members of a certain group are married. What is the respective ratio between
the number of married members to the number of unmarried members?
T fAfRTd @Hg & 28% Hewy faaried | 3ifaaried deeal r dear
faarfea dewal 1 d&ar & dr FEd T 4T g2

A 7:17

B 5:18

C 7:18

D None of these

Answer |C

Id 75

Question |The area of triangle is half the area of square. The perimeter of the square is 224
cm. What is the area of triangle?
f387sT o1 &¥ather @t or 3mem g | gdT hr AR 224 QAT §| Fsger @
& el T ¢ |

A 1856 cm”
1856 et {#T

B 1658 cm’
1658 FI1 GH

C 1558 cm’
1558 3T G

D None of these

$TH  PIS STQT

Answer

D




Id 76

Question | A bus is running at 80 kmph without any stoppage. But, with stoppages its average
speed is 60 km/hour. Find the time of stoppage by bus per hour.
Teh 99 9T IS Fhrge & 80 fFAT ufad ger & IR & I W 2l
W &eprae & A1 60 farelt wfcr ger &1 AR & =@er gt g1 ar uid
°CT §8 HI FhIAT dl &I ATd ?

A 12 minutes
12 fAse

B 20 minutes
20 fA=Ie

C 30 minutes
30 fAeT

D 15 minutes
15 fA=c

Answer |D

Id 77

Question |Fraction between 2/5 and 4/9 is:
foamr 7 & 2/5 3R 4/9 & &7 3uRYT & gl

A 3/7

B 2/3

C 4/5

D 1/2

Answer A
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Question | A person gives 1/4 of his property to his daughter, 1/2 to his sons and 1/5 for
charity. How much has he given away?
Teh egichel o 3Uall HURT T 1/4 #1067 A9 o1 1 fe=n, 1/2 T 319=)
qET @I AT 3R 1/5 #T are die o €1 Al 3 Fof foheelr 9T
fem|

A 1/20

B 19/20

C 1/10

D 9/10

Answer |B

Id 79

Question |If 5432*7 is divisible by 9, then the digit in place of * is :
i 5432+7, 9 & faoTT g1, df * & TUT G 3{eh ghn

A 0

B 1

C 6

D 9

Answer (C

Id 80

Question | 1/5 of a number exceeds 1/7 of the same number by 10. The number is:
fordy @&ar &1 1/5, 38 FE&ar & 1/78 10 318« g, 9§ a&ar gl

A 25

B 150

C 175

D 200

Answer |C
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Question

An incident occurs which results in arrest. When should this be reported to
police?

U v meal fores aRumArewT RTar g 8, 38 gfoder #
JRd T a@nfey

A After the security officer's notes are completed
AT HRF $r Reaoh o g B g

B After the arrested person's statement has been taken
IRTFaR afead &1 9= o & 91

C After site management has been informed and briefed
Ak &I gt FRIT A 3R AT ol & e

D Immediately after the arrest
fIRTART & R a1

Answer |D

Id 82

Question |Identify the false statement regarding access control systems:
AT AIHOT GoTell Feel el fIaRor gganfav |

A Biometric data, such as fingerprints, is used to allow access
ShafAfds ser , o &1 3Erfer gfaser &1 3uder AT At
foT e @Ry

B They are entirely dependent on human actions
d @ e ¥ AT fhar W AR g

C They are dependent on pass codes, key words or other forms of input
U HISH , 9IS JUT 3w $aqe W R g

D Physical forms of access such as cards or key chains are required

FTE 31Yar I S AifAe Frustdr smaegedr g dr ¢ |

Answer

B
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Question

In search documentation, identify which data does not require recording:

el g&ddst # Arfaf@d d @ Flaar gesdh HeJeol@d e
HTaeTH gl & |

A The searched person's name
oY §U SATFA T A1

B The searched person's signature
AT gT A F FEARR

C Estimated value of found items

D Time and date of search
denelt gearast &1 gAY 3R alg

Answer |C

Id 84

Question |Identify the main reason for the important of hand-overs between shifts:
el Seole & AT 3T §EATRYT HT LT FROT TgATAT |

A To ensure proper logging and disposal of any seized property
fordlt off STea 1 a5 aEg3iie 3T o TUT YT AR
e |

B To brief and equip incoming officers properly for security maintenance
TR T & T AT R PR qor gateord
AT

C To hand over incomplete logs, records and other written documents
3T feequll -qEdae e aUr 3w fAfld gEdmdst T gEdia’ol
el |

D To make note of any officers who are late for their shift

X ¥ Fare 3P Re IR & feoqult forger |

Answer

B




Id

85

Question | Continuous monitoring and observation of persons under arrest is important.
Identify the main reason for this importance:
fIRFIR cafFaaie foRey IR 3R 3raciehed Hgcaqol ¢, 58 &1
TET FROT § -

A To discourage others from committing the same offense
AT TR e & [T ARl galcdiied e |

B To communicate to the arrested person just how much trouble they're in
AR cafdd @ dact GRIT F & T, $7 308 Rrcet sere
& Tl €

C To obtain a full confession before police officers arrive
qfor ST & IMAT Tgel 07 FTNRRITFT e e |

D To ensure the safety of the arrested person and others
fIRFaR gidd 3R 3wg cafFaaihr guem giafad s |

Answer |D
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Question |Regarding searches, identify the true statement:
demell & IRA T YA JAT |
A If the owner gives permission, a security officer may remove objects from a

pocket or bag
I A 3TATT S 8, o GRef MRy Sid a1 4o & aeqsiient

fSprer AT g

B A security officer may remove objects from a pocket or bag if the owner
refuses to do so
Afelh & HAT el TR 3 e ISR A 1 A F g Aeprel
TeheTl B

C Permission to search pockets and bags is not required as long as the search is
supervised
od AR A Fr Tl & v egAfT 3rarIs 787 &, 59 dh
domelt R &7 g W 8 |

D A security guard may never place their hands into a pocket or bag

T 8T o Y od dUT Jof # @A g ARV

Answer

D
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Question

According to the Human Rights Act of 1998, which of the following is not a
right?

AT AR IFRAFIA 223¢, & AR FAe=Afi@d # @ siear
AT HET N © |

A Prohibition on discrimination
FeHd T gfaey
B The right for respect for private and family life
st 3Rk aRaRe Sfiaa & a@aE &1 ARFER
C The right to a fair trial
fasqer S 3fUeR
D The right to avoid arrest
IRFAr & s9a &1 3HRFR
Answer |D
Id 88
Question | After fire alarm activation, what is a security officer's first step?
BRI 3l WhiT gl & dlg GIaT TR Igell HheH &7 g
A Identify the nature and location of the incident by inspecting the control
panel
fAIFoT 97 1 ARETUT e geaar &l TaRT 3R TATT I ggarT
el |
B Summon the appropriate emergency services agency immediately
3R TIThTele FaTiieh TRl FolleTr |
C Wait for confirmation from a duty manager
ST YaUh H FIAT & folT el e |
D Evacuate the site to protect health and safety

TAELY OUT &t & T TAT ReFd e |

Answer

A
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Question

Identify the main purpose of a control room:

AT a1 T YW el F7 ¢ |

A Coordination of shifts and payments
aferdieT A=aT 3R 3ereh
B Providing a comfortable spot for security personnel to relax
GR&T HiFGAR JNH A & [T 3T TAT JGTeT e |
C Operating according to current health and safety regulations
TA T 3R GR&T g HTaR A H |
D Acting as the 'command central' for all safety personnel and their required

activities
Tl et SfAdl AR oAt Afafafegt & fov Hegadt He=or war
& ®T H PRI A |

Answer

D
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Question

Identify the true statement regarding the offense of trespass:

¢ UIfEeT (UfAEfd &3 & 1) 3R & SR H TET YT Hr
Ugdlel |

It is a civil offense and security officers can't make an arrest

Ig T ARY 3Ry § 3R gRe AREd ARl 781 # |

It is a criminal offense and only police officers can make an arrest

g Teh RS ATHGT § 3R Hao Yo AR FREa w2
Tohd g

Security officers should immediately arrest trespassers and then hand them
over to police

FRET HUHRT FT A 39 el F FREAR 1 =AfgT 3R
gferd & Farllel s =gy

It is a contract law offense and is always prosecuted

Ig U HideT dielel IR g 3R A/ HHcAT TelraT ST g

Answer

A
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Question

Which of the following should be done if a site visitor refuses to be
searched?

3R &1 TG JoRfl & e A, a1 o=@ & & gaeg
S Br-

A Hold the person's property and call a manager for assistance
ATFIRT AT ofhT FRET Tt H TG & AT FeTT |
B Make an arrest and call the police
faReFaRT Y 3R gfew 1 g |
C Note the person's refusal but allow them onto the property
AT & SehRW €A1 & foh 3o IRET # ST T 3-ATT ¢ |
D Let them go but refuse admittance onto the property
37g Sl ¢, W IRTAT AT & 3AhR W |
Answer |D
Id 92
Question |If a correction is necessary in a security officer's pocket notebook, how
should it be made?
3R FI&T UGN & diehe goh H FUR T g, dl Tg fohd
JehR U AT MU |
A By drawing a single line through the altered information and initialing the
change
Seell g5 SIS W Tehel 3@T WY IR IR & |
B By ripping out the entire page
QT Godl BT3 < |
C By using correction fluid and writing on top of it
HIFA Fess ol 30T X 38 I o |
D By writing the correction on a separate piece of paper and placing it in the

notebook

3 SETST % gohs W W 3R 38 dAlegsh A W

Answer

A
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Question

Under which type of law is assault considered an offense?

I FJd & ded , GHAT Teh IR ATAT ST 8 |

A Tort law
39hcT Flefal
B Contract law
Hider el
C Criminal law
HTRIf8 hlefel
D Civil law
ANRY HTeleT
Answer |C
Id 94
Question |Regarding fire alarm panels, what does a red light indicate?
AT e Goiel & TR , ol Faeh I SATT ¢ |
A A fire inspection is due and a security officer should arrange one right away
'3f3eT fAReTor 3mavaes & , O gRaT Al A [ AReor H
SIIEAT el AMRT |
B During the next patrol, the incident should be investigated
3aTell 91T , & GNIeT Tl 3T S hiell dIMRy |
C A fault or short has occurred and must be fixed
QY 3R AE afdhe g3 8, 30 ged T AR |
D A fire alarm is activated and immediate response is necessary

HTegae srifead § iR qid gfafsar 3maeas ¢ |

Answer

D
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Question

The Data Protection Act of 1998 states that data must be:

'STT YICHAT Flofel ¢’%¢' e ITHR ‘ST T TITT Bl ARV |

A Up to date and accurate
MYfAs TUT Th
B Retained for 5 years
9T AT deh §elTT IWeT AT |
C Manually processed
YTFIeRT FHIE |
D As detailed as humanly possible
e dara 81 3= ARG §9 § faEdd
Answer |A
Id 96
Question |Regarding electronic security systems, which of the following is not
considered a main function?
Il FI&TT YOG & dgcl oot A § Tl W Feled g1
g |
A Change of state monitoring control
Ry scara & AR fAI=oT |
B Change of state detection
Ry scara & @i |
C Detaining those responsible for changes of state
U deara & fov [SFAGR & I&hseT |
D Causing the system to take action when a change of state is detected

fEU Seoma &1 gdT Tele U YUMET i FRATS & [oIT §dleT |

Answer

C
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Question

Identify a defining aspect of random searches:

Iqreieade (Random) Wiall & IRATNT tl%?ﬁ-ﬂiﬁ' ggdlel 9|

A Everybody entering the area is searched
& H YdU FeAdrel gY SATFden! Tlal Y |
B Only certain persons or groups are searched
e R cafFa T Faed @t it |
C Potential hiding spots are searched routinely
ey [Bua & TUEIR AEood dlied Glefe |
D An agreed-upon system is used to select persons to search
Teh TER HgATT JUTTeleh gl diolal cATeradichl Tiol |
Answer |D
Id 98
Question |On patrol, which of these must a security officer carry at all times?
IR & SR, [AFTAd Hlerdll g TRt ISR & 9 glderd
gl TR
A Site map
SERECAI]
B Incident record book
T TG GRETh
C Handcuffs
gURSAT
D Notebook
AlegH
Answer |D
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Question

Which of the following is true regarding statutory agency representatives?

durfaes toldl o gfafafa & fov Aeafaf@a # @ slqaar &
T

A They can rope off or shut down any area they choose
& gfefer &7 wfasfea ot dg AR ww ¢ |
B A warrant is required before they can gain admittance
&9 H 9dY & folv aRe AT ¢ |
C They do not need to show any identification
3ot UgdleT U feue 7 3adedr 787 |
D Management permission is required before they take statements
AT o gl TSt & 3fefHTcIhl HTaRThell ¢ |
Answer |A
Id 100
Question |Identify the statement which best describes hearsay:
34 YT Ygdled HY , ST 'ﬁ@%ﬁ'(hearsay)aﬂ el guTe T & |
A An eyewitness statement
ScgeTeeRll A
B Photocopies, photographs and images of evidence
WICIhIUT , BICTATh dAT e Sl Siadm
C A statement of something one person heard another person say
ST @ A F R 3 S A FEd A
D Any evidence which doesn't provide a solid lead or conclusion

VHT HYA AT B TgelATs AT TSHY TETeT AET e |

Answer

C




